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Maths Class 10"

O Maths Class 10" et

SECTION “A”
Time: 20 Min Marks: 15
Note:Use this sheet for this section. No Marks will be awarded on cutting, erasing or overwriting.
Q.1 Chose the correct option from the given Choices i-e (A,B,C,D) and insert into the given relevant box.

M The degree of the Polynomial xy is

(A) One (B) Two (C) Three (D) Four
(ii) Point (1,2) lies the Quadrant

(A) 1% (B) 2™ (C) Third (D) Fourth
(i) Solution set of redical equation v/x—3 = 3is
(A) {3} (B) {6} (€ {9} (D) {12}

(iv) What should be added to a® +4ato make a perfect square.

(A) 2 (B) 4 (C)6 (D)8
(V) The mode of 25, 30, 35, 25, 35, 30, 25, 28, 25, 20

(A)25 (B) 30 (C) 35 (D) 40
(vi) Range of the data 3, 7, 2, §, 15, 9, 20, 14,

(A) 14 (B) 16 (C) 18 (D) 24

(vii)  If two circles have same centre but different radius then circles are

(A) Tangent  (B) Concentric  (C) Circum circle (D) In circles

(viii)  Sin30° = :
A Y ® 3 ©y. 01
(ix)  Tan40° =

(A) Sin50° © (B)Cos50°  (C) Cot50° (D) Sec50°
(x) Eliminating 't' x=3t, y=4t, we get
(A) 3x=4y (B) 4x=3y (C)x=4y (D) x=3y

(xi) If 5:15:x are in continued proportion then X =

(A) 75 (B) 25 (C) 30 (D) 45
(xii)  Arithematic mean of 1, 3,5, 6, 5 is .
(A5 (B) 6 €)4 (D)3

(xiii) In AABC,mAB =mAC then

(A)ymsZB=m«C (B) mZB>m«C (C) mZB<m«ZC (D)mZA=m«B
(xiv)  Radius of a circle 3.0 cm. its diameter is

(A)3.0cm (B) 6.0 cm (C)2.0cm (D) 4.0 cm
(xv)  Sin’0+Cos’0 =

(A0 (B) 1 (€)2 (D) -1
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SECTION “B” Marks: 36

Attempt any Nine (9) of the following short questions. Each carries equal marks.
0] Think a number. Add 3 double the'sum. If the answer is 40. Find the Original number.

(i) Find the solution set of y4x —1=+/3x+1

(iii)  Solve with the help of Formula 2 ;-2 _pg
y y+1

(iv)  Eliminate “P” from U =3p+1V =2p+7

(V) Eliminate X from x_%:p,xﬂ%:q

(vi)  Find the valueof-x.and y when x:y:1=16:25:5
(vii)  Solve equation Y3*+2 4% _4
Jax+2-4x 1
(viii)  Find trigonometric Ratios of 60°
(ix)  Solve AABC,m<c¢=90°,m< A=60°C =20cm
(x) Find angle of elevation of the sun when 6 meter High bamboo makes
a shadow of 2\/5 meter.
(xi)  Find Arithematic mean of x =13, 15, 4,14,12, 8,10, 15
(xii)  Calculate mean deviation of the data given by Arthematic mean

X: 2 3 4 5 6 7 8
f: 1 2 5 3 1 1 1
SECTION “C” Marks: 24

Note: Attempt any THREE questions. All questions carry equal marks

Q3.  Construct AABC when mAB =40cm, mBC = 4.5cm and m.B = 60°.

Draw bisectors of all the three angles.
Q4. From a point outside a line, the perpendicular is the shortest distance from the point to the line.
Q5. Tangents drawn to a circle from a point outside it, are equal in length.
Q.6 Radius of a circle 2.5 cm. Q is at a distance of 5¢cm from the centre of the circle. Draw tangents to
the circle from point Q.
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